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; Grey line: exponential fit Peak flux: 3.552+/- 0.806 c/s/cm? E
= Black line: power law + gauss fit Fluence : 26.39+/- 6.07 c/cm? =
E Dashed line: power law o ’ ) =
E Duration : 20.00+/- 5.44s E
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; Exponential fit é
= Expon.time: 7.03+/- 1.84s (chi*red= 1.02) =
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; Power law fit é
E Power law index: -0.897+/- 0.173 (chi*red= 1.02) =
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—  Power law fit plus Gaussian (st.dev.= 74.37+/-69.62 s, fracgs= 0.14+/- 0.13) =
- Power law index: -0.961+/- 0.079 (chi*-red= 1.02) 3
- b bt b AT RN BTN SR IRW TR -
= Hﬁﬁﬂﬁ HM w f WHQWwwﬁﬁ gﬂﬂﬁwﬂwﬂwﬂHMHﬂwﬁww MﬂWﬂw ﬁﬁﬁwﬂwWﬁH#HWW fﬂHjﬂ*ﬁwﬂWwwﬁﬁH*Wﬁﬂw
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E

0 100 200 30

Time [s]

0



